

Verilen çıkarma işlemlerini örnekteki gibi zihinden yapınız.

$$14 - 7 = 7$$

4 3

$$14 - 4 = 10$$

$$10 - 3 = 7$$

$$13 - 8 = \square$$

□ □

$$\square - \square = \square$$

$$\square - \square = \square$$

$$15 - 9 = \square$$

□ □

$$\square - \square = \square$$

$$\square - \square = \square$$

$$12 - 7 = \square$$

□ □

$$\square - \square = \square$$

$$\square - \square = \square$$

$$13 - 9 = \square$$

□ □

$$\square - \square = \square$$

$$\square - \square = \square$$

$$15 - 6 = \square$$

□ □

$$\square - \square = \square$$

$$\square - \square = \square$$

$$14 - 9 = \square$$

□ □

$$\square - \square = \square$$

$$\square - \square = \square$$

$$11 - 8 = \square$$

□ □

$$\square - \square = \square$$

$$\square - \square = \square$$

$$13 - 6 = \square$$

□ □

$$\square - \square = \square$$

$$\square - \square = \square$$

$$14 - 6 = \square$$

□ □

$$\square - \square = \square$$

$$\square - \square = \square$$

$$13 - 6 = \square$$

□ □

$$\square - \square = \square$$

$$\square - \square = \square$$

$$15 - 8 = \square$$

□ □

$$\square - \square = \square$$

$$\square - \square = \square$$

$$16 - 7 = \square$$

\swarrow
 \square

\searrow
 \square

$$\square - \square = \square$$

$$\square - \square = \square$$

$$14 - 8 = \square$$

\swarrow
 \square

\searrow
 \square

$$\square - \square = \square$$

$$\square - \square = \square$$

$$17 - 9 = \square$$

\swarrow
 \square

\searrow
 \square

$$\square - \square = \square$$

$$\square - \square = \square$$

$$11 - 7 = \square$$

\swarrow
 \square

\searrow
 \square

$$\square - \square = \square$$

$$\square - \square = \square$$

$$16 - 9 = \square$$

\swarrow
 \square

\searrow
 \square

$$\square - \square = \square$$

$$\square - \square = \square$$

$$11 - 6 = \square$$

\swarrow
 \square

\searrow
 \square

$$\square - \square = \square$$

$$\square - \square = \square$$

$$12 - 9 = \square$$

\swarrow
 \square

\searrow
 \square

$$\square - \square = \square$$

$$\square - \square = \square$$

$$16 - 8 = \square$$

\swarrow
 \square

\searrow
 \square

$$\square - \square = \square$$

$$\square - \square = \square$$

$$12 - 6 = \square$$

\swarrow
 \square

\searrow
 \square

$$\square - \square = \square$$

$$\square - \square = \square$$

$$15 - 6 = \square$$

\swarrow
 \square

\searrow
 \square

$$\square - \square = \square$$

$$\square - \square = \square$$

$$13 - 9 = \square$$

\swarrow
 \square

\searrow
 \square

$$\square - \square = \square$$

$$\square - \square = \square$$

$$12 - 8 = \square$$

\swarrow
 \square

\searrow
 \square

$$\square - \square = \square$$

$$\square - \square = \square$$